Balancer unit
] Auto pressure adjustment
—tom | BB S-A series
LCR
e @ Bore size : 850, 63, 280, 100
== | -
LCX )
= o
STG
STS/STL
STR2
UCA2 L H
Uk Specifications
JSKIM2 Model No.
356 | m BBS-A-50 BBS-A-63 BBS-A-80 BBS-A-100
JSC3/SC4 X . ]
~ Ussp | Working fluid Clean compressed air
UFCD | Max. working pressure MPa 0.60 (=87 psi, 6 bar)
% Min. working pressure MPa 0.25 (=36 psi, 2.5 bar)
jsp3 | Proof pressure MPa 0.90 (=130 psi, 9 bar)
LMB Ambient temperature °C -5 (23°F) to 50 (122°F) (no freezing)
% Bore size mm 250 263 | 280 2100
HCA | Max. stroke mm 1500
LBC Working piston speed mm/s 1 to 200
_CAC4 Cushion Rubber cushion
UCAC2
CAC-N | Lubrication Not available
UCAC-N | Minimum load range kg 10 16 25 40
% Maximum load range *1 kg 70 115 180 285
PCC Operating force N Refer to page 1277 BBS working force documentation
~_SHC | Holding force N 1539 3940
MCP - - X
~ gLc | "1:Referto page 1277 for details about the maximum load range versus BBS working pressure.
MFC
RRC
GRC
~_Rv3" | Stroke
NHS .
THRL Standard stroke (mm) Max. stroke (mm) Min. stroke (mm)
LN 100, 200, 300, 400, 500, 600, 700, 800, 900,
" Hand | 1500 100
—hak | 1000, 1100, 1200, 1300, 1400, 1500
u
~ Jendcn | Note @ The custom stroke is available in 1 mm increments.
ShkAbs
FJ
_FK ]
SpdContr i
~ Ending | Welght table (Unit: kg)
: Product weight at 0 mm stroke Additional weight
Bore size - ”
() Basic |Eye bracket|Clevis bracket per 100 mm
(00) (CA) (CB) stroke
250 7.22 7.62 — 835 | 7.56 0.44
263 7.52 8.20 — 8.65 | 8.02 0.52
280 10.96 — 11.67 12.88 | 11.67 0.70
2100 12.09 — 13.37 14.01 | 13.44 0.86

1258 CKD



B B S 'A Series

How to order

How to order [Lcm
LCR
LCG
BBS-A '@@CP" D "@ Code Description LCW
Automatic O Type Blank Electric (24 VDC) sTG
pressure A Pneumatic *4 STS/STL
adjustment - @ Load direction |STR2
balancer unit @ Load direction UCA2
D Push type .
*1 ULK
| Pull type JSKIM2
- - - GCyImder orientation (piston rod direction) |JSG____
@ Cylinder orientation Blank _|Downward JSC3USC4
(Piston rod direction) |USSD
*4 1 Upward UFCD
Horizontal lusc
UB
® Vouning UsB3
v Basm LMB
CA Eye bracket (250, #63) (pin and snap ring attached) LML
CcB Clevis bracket (280, 100) (pin and snap ring attached) :::gxli
FA Rod side flange LBC
Head side flange CAC4
UCAC2
Lot
@®Bore size G ( ) CAC-N
UCAC-N
: : 63 263
A\ Precautions for model No. selection [Re=e
80 280 RCC2
*1 : The load direction refers to the input direction of the 100 2100 PCC
load to the cylinder. SHC
The cylinder orientation is when installed. Refer to @ Stroke (mm) MCP
, che figure !;elolv. e g e @ stroke 100, 200, 300, 400, 500, 600, 700, 800, GLC
*2 : Mounting bracket will be shipped with the product. MFC
*3 :“I"and “Y” cannot be selected together 900, 1000, 1100, 1200, 1300, 1400, 1500
selected for the air method, be sure to use @ACCESSOFV | Rod eye GRC
the control box (BBS-A-TB Page 1267). *3 —— - RV3*
Y Rod clevis (pin and snap ring attached) NHS
OCyIinder orientation HRL
Load direction push (D) hNT
an
D (Piston rod downward) D1 (Piston rod upward) D2 (Piston rod horizontal) Chuk
MecHnd/Chuk
O ShkAbs
Load direction : push FJ
Cylinder orientation: | FK
piston rod downward TLoad direction : push o SpdContr
Cylinder orientation : horizontal Ending
W
Cylinder orientation : .
w l Load direction: push piston rod upward
Load direction pull (U)
U (Piston rod downward) U1 (Piston rod upward) U2 (Piston rod horizontal)
,—W_—| i Load direction - pull Load direction : pull
71 Cylinder orientation :
piston rod downward
° Cylinder orientation : horizontal
T Load direction : pull Cylinder orientation :
piston rod upward
How to order mounting bracket
Bore size (mm)
- 250 263 280 2100
Mounting bracket
Flange (FA) BBS-FA-50 BBS-FA-50 BBS-FA-80 BBS-FA-80
Flange (FB) SCM-FA-50 SCM-FA-63 SCM-FA-80 SCM-FA-100
Eye bracket (CA) SCM-CA-50 SCM-CA-63 - -
Clevis bracket (CB) - - SCM-CB-80 SCM-CB-100
Note : All mounting brackets have mounting bolts attached. C KD 1259



B BS 'A Series

Dimensions

LCM
LCR

LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG

@ Basic (00) Load direction push (D)

ZB (Brake port)[ 1]
ZC (IN port

ZB (External pilot port)

YA YB

KK

oMM
]
d|
®
)

s
N
S

i
oF
R

J8C3/JSC4
USSD
UFCD
usc

ol
b

[

M 4-DA
WF H
XF

ZB
(Pilot port)

A

LL + stroke N
X + stroke

@ Basic (00) Load direction pull (U)

ZB

ZB (Brake port) [1]

»
X
T
B
=+

e
x O
|
i T
A

MM

A
D II:::"_ ‘
\

Chuk
MecHnd(Chuk
ShkAbs
R
FK
SpdContr

Ending

XF LL + stroke N

X + stroke

(Pilot port)

Note : [_] contains the piping connection number of the air circuit diagram.
Code

- A

Cc DA DB KK

250

32

M8 x 1.25 depth 16

M8 x 1.25 depth 15

E F H | J
58 110 224 60 30

M18x1.5

LL MM
314 20

263

M10 x 1.5 depth 16

M8 x 1.25 depth 15

72

110

224

60

32

M18x1.5

314

20

280

M10 x 1.5 depth 22

M10 x 1.5 depth 15

89

124

240

66

40

M22x1.5

348

25

2100

.

250

M12 x 1.5 depth 22
P Q

57 81 50

SB|{SD | T

M10 x 1.5 depth 15
WF

32 1 23

110

X

374

124

XF

58

240

66

YA | YB | YC

15

12

32

50

YD

52

M22x1.5

ZA

Rc1/4

348

ZB

Rc1/8

25

ZC

Rc3/8

263

57 81 50

38 1 23

374

58

15

12

32

52

Rc1/4

Rc1/8

Rc3/8

280

7 90 59

50 13 31

422

7

15

15

34

55.7

Rc3/8

Rc1/8

Rc1/2

2100

NIN|IN[N

W|lWw(IN|[N

77 90 59

60 13 31

422

71

15

15

34

55.7

Rc1/2

Rc1/8

Rc1/2

1260

CKD



Dimensions

B BS 'A Series

Dimensions

LCM
LCR

@ Eye bracket (CA) Load direction push (D)

CJ + stroke

ZB (Brake port)[1] ZB (External pilot port)[10]
ZC (IN port)
ZC (OUT port)[s]

KK

YA

.

oMM

oo L

2-ZA

K|

oF
o

ol

olE

> tO 14
ES

ZB @

(Pilot port) XF

LL + stroke

CA + stroke

@ Eye bracket (CA) Load direction pull (U)

CJ + stroke

ZB (External pilot port)[10] ZB (Brake port)
ZC (IN port)[z]

YC, YD

YA

oMM

YB

2-ZA

oF

oE

ZB (Pilot port) A |WF

LL + stroke

CA + stroke

Note :[ | contains the piping connection number of the air circuit diagram.

Code
- A C DB E F H | KK LL MM | M P (o] R | SB T

M8x1.25depth 15| 58 | 110 | 224 | 60 | m18x15 | 314 | 20 | 2 | 57 | 81

35 32

LCG
LCW
LCX
ST™
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
o) - JSC3/USCe

USSD
UFCD
usc

20 | 50 | 11

Chuk
MecHnd/Chuk
ShkAbs

FJ

FK

[ SpdContr

Ending

[}
o

: WF | XF

50
63 35 32
250 23 58

47 16 20 19

362 60 79.6

Rc1/4

36 50

Rc1/8

1

Rc3/8

263 23 58 424 18 22 22

367 74 97.8

Rc1/4

Rc1/8

Rc3/8

CKD

1261



B B S 'A Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc

Chuk
MecHnd(Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

Dimensions

@ Clevis bracket (CB) Load direction push (D)

ZB (Brake port) [1]

ZB (External pilot port)

CJ + stroke

ZC (IN port
ZC (OUT port) [&] [

oMM

YB

CF

oF P

oE

O -

ZB

&]
5

(Pilot port)

LL + stroke

CA + stroke

@ Clevis bracket (CB) Load direction pull : (U)

ZB (External pilot port) [10] ZB (Brake port) [1

CJ + stroke

(Pilot port)

MM

YA

| ,._

aF

oFE

LL + stroke

CA + stroke

Note : [ contains the piping connection number of the air circuit diagram.

LL
Bore size (mm) I..“Hﬂn.“-mnnnﬁ.

40

37 | M10x 1.5 depth 15 |

89 | 124

240

M22x1.5

348

7

i)

cz
CcY

CM

| 90 | 59 | 13

2100

Code
Bore size (mm)

280

40

31

37

71

M10 x 1.5 depth 15

472 | 18 | 18 | 35

110

25

124

414

240

80

M22x1.5

348

556.7

Rc3/8

Rc1/8 | Rc1/2

2100

31

71

484 | 22 | 22 | 43

31

422

100

55.7

Rc1/2

Rc1/8 | Rci1/2

1262

CKD



Dimensions

B BS 'A Series

Dimensions

@ Rod side flange (FA) Load direction push (D)

ZB (Brake port) ZB (External pilot port) [10]

FF_ .

FG + stroke

ZC (IN port)[22
ZC (OUT port)[eg]

&A1

FM

FL0.15
@ff‘§

4-gFD

YAy . )8

KK

MM

oF

.

HHERN

i

FT

ZB (4]

oFE

(Pilot port)

LL + stroke

X+

stroke

@ Rod side flange (FA) Load direction pull : (U)

ZB (External pilot port)[10. ZB (Brake port)

FF_,

ZC (IN port)
ZC (OUT port) KK

FG + stroke

¥4

iy

N

fr9

)
o

/
Vany
<

\
}
1

/

’

FL+0.15

.,

FM

oE

(Pilot port)

4-oFD

LL + stroke

X + stroke

Note : [_] contains the piping connection number of the air circuit diagram.

Code
Bore size (mm)

250

Cc

M8 x 1.25 depth 16

58

110

224

“

30

M18x1.5

314

20

SD+0.1

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc

Chuk
MecHnd/Chuk

4-DB

ShkAbs

57 81 32

263

M10 x 1.5 depth 16

72

110

224

32

M18x1.5

314

20

57 81 38

280

M10 x 1.5 depth 22

89

124

240

40

M22x1.5

348

25

77 90 50

2100

5
oo |

250

40

1

23

M12x1.75 depth 22

X | XF | FD | FF

374 58 1" 1

110

328

124

FG | FL

95

240

FM

120

50

FT

12

M22x1.5

348

mn
2
2
3
3

25

YA | YB | YC | YD

12

32

52

ZA

Rc1/4

77 90 60

ZB ZC

Rc1/8 | Rc3/8

263

23

374 58 1 1

328

95

120

12

12

32

52

Rc1/4

Rc1/8 | Rc3/8

280

31

422 71 13 17

365

110

142

14

15

34

55.7

Rc3/8

Rc1/8 Rc1/2

2100

31

422 71 13 17

365

110

142

14

15

34

55.7

Rc1/2

Rc1/8 | Rc1/2

CKD

U
il S
SpdContr

Ending

1263



B BS 'A Series

~_LcM | Dimensions
LCR

LCC | @ Head side flange (FB) Load direction push (D)
LCW
LCX
STM
STG
STSISTL
STR2
UCA2 FJ + stroke
ULK: | ZB (Brake port) ZB (External pilot port) [10
JSKIM2 ZC (IN port)
JSG
sscyser | ZoAQUT ot el
USSD
UFCD
usc
UB

JSB3 Ol —
LMB

®
M e FL+0.15
LML B & WE H EM

HCM (Pilot port) XF LL + stroke

__HCA | FA + stroke
LBC

CAC4
UCAC2
CAC-N
UCAC-N
RCS2
- RCC2 | @ Head side flange (FB) Load direction pull : (U)

KK

FM

FL+0.15

It

oF

> io ‘?‘EEH{
_I.A:M
i
m L4
=N

MFC FJ + stroke
ZB (External pilot port) [10] ZB (Brake port)

ZC (IN port)
ZC (OUT port)[s8] KK s

YA YB
4-gFD
2.ZA ‘
[

ol
Tua %
i

Y

oF
i
i
I
1
2J
FM
FL+0.15
|

=
5L
@{

Chuk
MecHnd(Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

~—~—
FT N FL+0.15
FM

>¢O—|
v

LL + stroke
(Pilot port) FA + stroke

x
i

Note : [_] contains the piping connection number of the air circuit diagram.

Code
- A C J LL
Bore size (mm)
@50 35 32 30 2 2 57 81

M8 x 1.25 depth 15 58 110 224 60 M18x1.5 314 20
263 85) 32 | M8 x 1.25 depth 15 72 110 224 60 32 M18x1.5 314 20 2 2 57 81
280 40 37 M10 x 1.5 depth 15 89 124 240 66 40 M22x1.5 348 25 2 3 77 90
2100 40 37 M10 x 1.5 depth 15 | 110 124 240 66 50 M22x1.5 348 25 2 3 77 90
E WF | XF FA FD FJ FL | FM | FT | YA | YB | YC YD ZA ZB ZC
250 50 " 23 58 383 9 346 58 76 9 15 12 32 52 Rc1/4 Rc1/8 Rc3/8
263 50 1 23 58 383 1 346 70 92 9 15 12 32 52 Rc1/4 Rc1/8 Rc3/8
280 59 13 31 71 433 1" 390 82 104 1" 15 15 34 55.7 Rc3/8 Rc1/8 Rc1/2
2100 59 13 31 71 436 13 393 100 | 128 14 15 15 34 55.7 Rc1/2 Rc1/8 Rc1/2

1264 CKD



B B S 'A Series

Control box
Control box (for electric)

How to order

(BBS-A)-(ETB)

Auto pressure
adjustment
balancer unit

Custom-made circuits are available to suit customer usage criteria. Contact CKD for details.

Control box

Dimensions

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD

@ Control box (BBS-A-ETB)

(3)

4
-
;

Push-in fitting 3-26

Ny
Push-in fitting 3-212

EelE
O
o
©a

270
300

mohl o %

©n ]

Ak

430
460

@)

150

& Weight : 9.0kg

Air circuit diagram

UFCD
uUscC
UB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
(UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
RRC
GRC
RV3*
NHS
HRL
LN
Hand
Chuk
MecHnd/Chuk
ShkAbs
FJ

Customers are asked to prepare items as necessary.
r 7

@ Control box
(BBS-A-ETB) Air circuit diagram J

Terminal | Ep———
For pressure switch

Customers are

g asked !
to prepare items
as necessary. |

|— Detection switch

1
'
'
1
|—Jig switch :
'
1
1
'
'

-

SOoL2

Framed manifold
Direct cylinder mount|

For adjusting
rising speed

Place near the cylinder |

Framed solenoid valve

—

J:_ Brake switch

For
adjusting

1
1
1
1
1
1
1
1
1
1
1
1
i
lowering |
1
1
1
1
1
]

SsoL1

speed

O
=T

Brake port |Framed operation switcl i

| |
Frame selected !
gty iU | | by the customer |

@valves are shipped together ) T T/
with the control box.

D (push load) is indicated in the figure above.
For U (pull load), the piping to the cylinder is on the head side.

il S
SpdContr

Ending




B BS 'A Series

% Control box (for electric, 2-stage speed switchable)

LCG
1w | How to order

- (BBS-A)-(ETB2)

STG
STSISTL

STR2
~UCA2 | Auto pressure

ULK" adjustment.
~Jskv2 | balancer unit

JSG
JSC3/JSC4
USSD . .

~Urco | Dimensions
usc
UB @ Same as control box (BBS-A-ETB). Refer to page 1265.
JSB3
LMB
LML
HCM . o
Hca | Alir circuit diagram
LBC

~ CAC4 | @ Control box (BBS-A-ETB2) air circuit diagram
UCAC2
CAC-N

~UCACN. T —
ﬂ : 0 prepare | e?s as |
RCC2 ]

PCC | PLC ——

Custom-made circuits are available to suit customer usage criteria. Contact CKD for details.

Control box

Weight: 9.5kg

MCP

GLC _ S - _ _____&?_-.____-._J'_,
MFC T 1______________(_:; @) .

(L —

For pressure Switch !
RRC
GRC
RV3*
NHS -
HRL
LN !
Hand —'i-f
Chuk
MecHnd(Chuk
ShkAbs
FJ
FK
SpdContr

Ending

Customers are -1

g N asked !
to prepare items as |
necessary. |

o
}‘Rising switch 1
_T '
|
'
'
J I
'
|
|
- |
|

I Workpiece
! balance
For adjusting
rising speed
|

-

&1/
]

z,

d

Framed manifold

Direct cylinder mounty

Framed manifold

'
'

1 Workpiece

! balance

| For adjusting
1

|

'

|

-

Framed solenoid valve
Place near the cylin

}~Lowering switch

lowering

1
|
1
1
1
'
|
|
|
1
i
speed |
|
1
1
'
1
1
1
'
A
I
|
1

SOL2 SOL3

4

1

L

'

1

nnl ! |
Pz A d L
E 1 0 ' i r

2z S j

Jig balance
For adjusting
rising speed

—

F

Brake switch

R ———

Brake port o)

~ |Jig balance
= 'For adjusting
& lowering
e __ispeed

| Frame selected by
|__ the customer__

Framed control box

(@valves are shipped together )
with the control box.

|
|
!
i

Load |
1
|
|
|
1

D (push load) is indicated in the figure above.
For U (pull load), the piping to the cylinder is on the head side.

1266 CKD



B B S 'A Series

Control box
Control box (for pneumatic) tggi
LCG
How to order ew
BBS-A - lLeX
STM
STG
STS/STL
Autorat Custom-made circuits are available to suit customer usage criteria. Contact CKD for details. 'STR2
utomatic pressure |ofRe
. UCA2
adjustment . ULk
balancer unit Control box TISKM2
JSG
Dimensions S
UFCD
@ Control box (BBS-A-TB) usC
~| UB
o ==
- " — JSB3
Push-in fitting 11-26 L Rdy i LMB
@ 59! i LML
8 ceeo ; How
Push-in fitting 3-212 @ ! HCA
LBC
ﬁi ol o CAC4
NS UCAC2
CAC-N
UCAC-N
- 72832
fi H eos @| &
4 IR | PCC
: * % J  sHC
400 D MCP
430 GLC
460 MFC
S
- - RRC
GRC
| RV3*
1 ° NHS
© HRL
5 | LN
e & Y Weight: 10.5kg | Hand
Air circuit diagram VecndCuk
ShkAbs
@ Control box (BBS-A-TB) air circuit SSCCEESSDEESSBEERSSRSSSES : R
i s -
diagram i Tyttt 1 SpdContr
______________ @ 4 . ! L_€| ! —
T N i . | Ending
: g ________________ J.‘ ...... r- ..{1 —qm—————— O 1-- : Framed operating
: 1 : [ 1 : switch Selected by the
| E : E _____ [ty chIJrkpiece E : custom%rop
2 BR i o Lo For adjusting Do
Sl ! = o spee L A
XK ! | [ =} [ [ e—
|- e e
gi E;EE ________ - ,i‘_ _‘l‘_ _.E»_ _él _|‘ | E bg‘l)e:n?:lee%r : : :
KR ! 1 ! I/ I g ﬁ;\i/uesnlr?ggspeed:’---' L_& Rise
%0;: il 1 ___:__“__: ! !
et Lofe i
gx;{u E 1 H E ! Jig balance-: ' -
4 o |'"{" For adjusting)
ﬁl m_r\_m_r\_l T " T I nslngspeed:.
1 c IR ¥ - S P N U AN -
Brake port o N ' ' Brake switch
|r 1 :- ! : ! | : %Jlé; bat!ance For
| | | adjustin:
E 1‘ ‘EU L hl:l L i E ----- L___I_D‘:{Ie_,rir\]_ggjpeed @
| | h 1 H
[ R B Ao
Leoeeee [
e RECaca
é JI. Frame selected
by the customer
.................... Framed control box
=
(@ valves are shipped )
together with the control box.
D (push load) is indicated in the figure above.
For U (pull load), the piping to the cylinder is on the head side.
CKD




B BS 'A Series

LCM
LCR
LCG
LCW
LCX
ST™M

Operation switch (for pneumatic type)

How to order

STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML

Balancer
Unit

Operation
switch

Push type

Description

Hand

Lever

@A T

Grip

Operation switch outline drawing

HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
RRC
GRC
RV3*
NHS
HRL
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK
SpdContr

Ending

1268

@ Push type (BBS-CSW-P)

80

24

90

250

@ Hand (BBS-CSW-H)

34 o7

Rc1/8 Rising signal output port Rc1/8 Lowering signal output port

Rc1/8 brake signal output port | Rec1/8. Supply port

Weight: 1.4kg

Rc1/8 Brake signal output port
Rc1/8 Rising signal output port ——

Rc1/8. Supply port |

Rc1/8 Lowering signal output port

(4) )

36

Release

2-M6

©

depth 8 l

18

122

g ?fé

193

CKD

[ (225)
Weight: 1.0kg



B B S'A Series

Operation switch

Operation switch outline drawing =
LCG
@ Lever (BBS-CSW-R) LCW

206 LCX
65 76 65 ST™M

Rc1/8 brake signal output port (95) [45(:56;%%9" (45(:5555%“ STG
© 72 Smgaﬂw) awa‘én% STS/STL

Rc1/8 supply port T \36 36 (> STR2
‘ 132 UCA2
Nl Y- ULK*

. ISKIM2
MIBiLS f JSG
15C3/0SC
USSD
UFCD
usC
UB
JSB3
Drop= YR
LML

HCM

59 |HCM
Sl HCA
LBC

E% CAC4
C UCAC2

w
)
w

[

j—
32
|

11

220

230
-]

100
|
[
]
230
[
520

Rc1/8 rising signal output port

(4.5)

Rc1/8 lowering signal output port

140

= Rise

CAC-N
UCAC-N
Weight : 2.0k oSz
eight : 2.0kg

@ Grip (BBS-CSW-G) 72582
SHC
MCP
GLC
MFC
RRC
GRC
Rc1/8 brake signal output port RV3*

(95) 346 NHS
65 76 150 55 "HRL
s 35 ILN
;?,_5> <3_2> Hand
T ¥ [Cif | Mi8x1.5 | Chuk
] MecHnd(Chuk
! I ShkAbs

¥ y FJ

[ =
M18x1.5 E FK
SpdContr

\ Rc1/8 rising signal output port TR
Ending

Rc1/8 lowering signal output port Weight : 2.5kg
Rc1/8 supply port

(4.5)

11 <

100

©
N

220
220
230

(4.5)

Assemble the lever and grip operation switch to the piston rod before use.
Adapters for assembly are also available. Contact CKD.

CKD 1289



Balancer unit
Fixed pressure adjustment
Control box separate

Control box integrated

=R N
“ice | . BB S-0 series BBS-OB seri
R | -V Series - Series
LCW g @ Bore size : 950, 263, 280, 100
LCX
= o
STG
STS/STL
STR2
UCA2 - :
Uk Specifications
JSKIM2 Model No.
~J5G | m BBS-O-50 BBS-0-63 BBS-0-80 BBS-0O-100
JSC3/SC4 X ; -
~ Ussp | Working fluid Clean compressed air
UFCD | Max. working pressure MPa 0.60 (=87 psi, 6 bar)
Aﬁgg——anmemme% 0.25 (=36 psi, 2.5 bar)
jsp3 | Proof pressure MPa 0.90 (=130 psi, 9 bar)
LMB Ambient temperature °C -5 (23°F) to 50 (122°F) (no freezing)
% Bore size mm 250 263 | 280 2100
HCA | Max. stroke mm 1500
LBC Working piston speed mm/s 1 to 200
CAC4 - -
~UCACZ | Cushion Rubber cushion
CAC-N | Lubrication Not available
UCAC-N | Minimum load range kg 10 16 25 40
% Maximum load range *1 kg 70 115 180 285
PCC Operating force N Refor to page 1277 BBS working force documentation
~_SHC | Holding force N 1539 3940
% *1 : Refer to page 1277 for details about the maximum load range versus BBS working pressure.
MFC
Stroke
RRC .
" GRC | Standard stroke (mm) Max. stroke (mm) Min. stroke (mm)
RV3* 100, 200, 300, 400, 500, 600, 700, 800, 900
~ NHs | BBS-O 1500 100
—RL ] 1000, 1100, 1200, 1300, 1400, 1500
TN 300, 400, 500, 600, 700, 800, 900,
-~ | BBS-OB 1500 300
Hand 1000, 1100, 1200, 1300, 1400, 1500
% Note : The custom stroke is available in 1 mm increments.
MecHnaIChuK
ShkAbs
FJ
~ K 'Weight table
Spdgomr @ Control box separate BBS-O (Unit : kg)
Endin . " ;
¢ Bore size Product weight at 0 mm stroke Additional weight
(mm) Basic |Eye bracket CIeV|s bracket Flange per 100 mm
(00) (CA) stroke
7.22 7.62 — 8.35 7.56 0.44
263 7.52 8.20 — 8.65 | 8.02 0.52
280 10.96 — 11.67 12.88 | 11.67 0.70
2100 12.09 — 13.37 14.01 | 13.44 0.86
ontrol box integrate: - nit : kg
@cC I box i d BBS-OB Unit : k

Bore size Product weight at 0 mm stroke Additional weight
() (CA) (6] stroke
250 11.14 11.54 — 12.27 | 11.48 0.58
263 11.44 12.12 — 12.57 | 11.94 0.66
280 14.78 — 15.49 | 16.70 | 15.49 0.84
2100 15.91 — 17.19 | 17.83 | 17.26 1.00

1270

CKD



B BS '0* Series

How to order

How to order [Lcm
LCR
LCG
(BBS-0)-(D-(CB)-(80) D - (300-(Y ‘ew
LCX
STM
STG
Code Description STS/STL
O Model No. %
@ Model No. BBS-O |Control box separate (*5) Uk
BBS-OB |Control box integrated JSKIM2
JSG
— ® Load direction sl
QI*_10ad direction D Push type lussb
u Pull type |UFCD
/P usc
, ® Mounting UB
© Mounting 00 [Basic JSB3
2 LMB
CA Eye bracket (850, 63) (pin and snap ring attached) ML
CB Clevis bracket (280, 2100) (pin and snap ring attached) HCM
FA Rod side flange (HCA
- LBC
FB Head side flange CAC4
; ®Bore size (mm) UCAC2
@® Bore size CAC-N
50 250 UCACN
63 263 RCS2
RCC2
80 280 Poc
100 2100 SHC
troki GLC
9*83“’ e 100, 200, 300, 400, 500, 600, 700, 800, R
900, 1000, 1100, 1200, 1300, 1400, 1500
RRC
@ Accessory GRC
. . @ Accessory I Rod [RV3*
A\ Precautions for model No. selection 4 od eye R
— - — Y Rod clevis (pin and snap ring attached) e T=TEE—
*1 : The load direction refers to the input direction of the HRL
load to the cylinder. LN
*2 : Mounting bracket will be shipped with the product. Hand
*3 : The min. stroke of BBS-OB is 300 mm. Chuk
*4 : “I”and “Y” cannot be selected together. HecHdChuk
*5 : BBS-O control boxes are attached separately. ShkAbs
Connect them to the cylinder yourself. FJ
il S
SpdContr
Ending
How to order mounting bracket
Bore size (mm)
= 250 280 2100
Mounting bracket
Flange (FA) BBS-FA-50 BBS-FA-50 BBS-FA-80 BBS-FA-80
Flange (FB) SCM-FA-50 SCM-FA-63 SCM-FA-80 SCM-FA-100
Eye bracket (CA) SCM-CA-50 SCM-CA-63 — —
Clevis bracket (CB) = = SCM-CB-80 SCM-CB-100
*1 : All mounting brackets have mounting bolts attached.
CKD o




B B S '0 Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc

RRC
GRC
RV3*
NHS

HRL

LN

Dimensions

@ Control box separated, basic (00), load direction push :

ZC (IN port)

ZE (Brake release port)

KK

©)

ZE (Pilot port)
YD

gMM

ol

oE

== :JEF

2]

>0

LL + stroke

4-DA

X + stroke

@ Control box separated, basic (00), load direction pull : (U)

ZE (Brake

release port) ZC (IN port)

KK

YC

ZE (Pilot port)
YD

YA ZA

MM

ol

P

-1\

&

250 35 32

> 0H

aF

SD

LL + stroke

4-DA

X + stroke

M8 x 1.25 depth 16

M8 x 1.25 depth 15

58 110 224 60

30 M18x1.5 314

263

M10 x 1.5 depth 16

M8 x 1.25 depth 15

72 110 | 224 60

32 M18x1.5 314

280

M10 x 1.5 depth 22

M10 x 1.5 depth 15

89 124 | 240 66

40 M22x1.5 348

Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK

SpdContr

Ending

1272

2100

250 50

SD T

32 1

M12 x 1.5 depth 22

WF

23

M10 x 1.5 depth 15

X

374

- A C DA J LL
2
2
2
2

110 124 | 240 66

XF | YA|YB|YC | YD

58 15 12 37 48.5

wuNNH

50 M22x1.5 348

ZA | ZE | ZC

Rc1/4 | Rc1/8 | Re3/8

263 50 38 1"

23

374

58 15 12 37 48.5

Rc1/4 | Rc1/8 | Re3/8

280 59 50 13

31

422

71 15 15 33 56.7

Rc3/8 | Rc1/8 | Re1/2

2100 59 60 13

31

422

71 15 15 33 56.7

Rc1/2 | Re1/8 | Re1/2

@ Control box (included) (weight : 3.7 kg)

®)

"3

e

i
VS

&

200

240

270

@ Air circuit diagram
For workpiece
balance
adjustment

v For jig

balance
adjustment

Precision regulator for workpiece
balance adjustment

0]

B

Q@

O N

©)
B»IN port

Workpiece switching ~ Frame selected
by the customer

mBrake port

300

@)

am

= &

&

95

Framed control box

Load

Precision regulator for jig balance adjustment

Mounting dimensions of each mounting are the same as BBS-A. Refer to pages 1261 to 1264.

CKD



B BS '0 B Series

Dimensions
Dimensions [Lem
LCR
@ Control box integrated, basic (00), load direction push : (D) %
i — e zn ox
e < STM__
e o H STG
| hr—‘ [osoosee] 4 & o STSISTL
S sk o 'STRZ
9 1 P UCA2
: e ® oTT : ULK*
JSKIM2
ZE push-in fitting 1JSG_
(Signal port) | JSCIUSC4
USSD
For workpiece UFCD
3) G 300 balance adjustment | JsC
240 T
UB
‘ ) ] For jig balance JSB3
KK = N 1 u S adjustment LMB
= = /F/V‘ ' LML
HCM
Q = | ® - o] Stw HCA
Q ® S} SUAS)
N © “ | © I
< LBC
s [ CAC4
ol —la| | $ $ . .
C.M ﬂ‘ ZD push-in fitting UCAC2
A _|WF H ® ® (IN port) CAC-N
UCAC-N
XF AN
- LtL 1stroke N RCS2
stroke RCC2
: : N PCC
@ Control box integrated, basic (00), load direction pull : (U) SHC
YA MCP
A GLC
MFC
e e | |7 i
ol | ezl || N RRC
I-D-IH AV N Q[T /V GRC
\I\ S=== Lol o Rv3*
— - 5 T : NHS
HRL
LN
ZE push-in fitting Hand
(Signal port) Chuk
For workpiece MecHnd/Chuk
U 95 (3) G 300 balance adjustment | SNKADS
240 FJ
3 ® For jig balance L, S—
s KK s adjustment | SpdContr
= + @/ . Ending
o a 8 — L ‘ )/ Q =Tw
7] Q) ® S & e o] ®y°©
. W
- ] |
4-DB - CMIT + ﬁ; ZD push-in fitting
- | A _|WF H ® () (|N pOI‘t)
XF LL + stroke N
X + stroke
- (] (DA) J LL
250 35 32 M8 x 1.25 depth 16 | M8 x 1.25 depth 15 58 110 248 224 60 30 M18x1.5 314
263 85| 32 M10 x 1.5 depth 16 | M8 x 1.25 depth 15 72 110 248 224 60 82} M18x1.5 314
280 40 37 M10 x 1.5 depth 22 | M10 x 1.5 depth 15 89 124 267 240 66 40 M22x1.5 348
2100 40 37 M12 x 1.5 depth 22 | M10 x 1.5 depth 15 110 124 267 240 66 50 M22x1.5 348
- N | SB | (SD) T U WF X XF YA | YB ZA ZD ZE
250 20 2 2 50 32 1 47.5 23 374 58 15 12 Rc1/4 212 26
263 20 2 2 50 38 11 54.5 23 374 58 15 12 Rc1/4 212 26
280 25 2 3 59 50 13 60 31 422 71 15 15 Rc3/8 212 26
2100 25 2 8 59 60 13 70 31 422 71 15 15 Rc1/2 212 26

Mounting dimensions of each mounting are the same as BBS-A. Refer to pages 1261 to 1264.

CKD 1273



B BS Series

LCM
LCR
LCG
LCW
LCX
STM
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
uscC
UB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
RRC
GRC
RV3*
NHS
HRL
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK
SpdContr

Ending

Accessory dimensions

@ Rod eye

Bore size
(mm)
50, 63

SCM-I-50

/P,?/?

Material : Cast iron
Painting

CDhi1o

Ccw

oE

56

18

40 | 14 |22 43 | 28

M18x1.5

20

Weight

(9)
158

@ Rod clevis Material : Cast iron

Painting

Rps

CDwni1o

CcVv

MB AB

CA

Bore size
(mm)

SCM-Y-50

50, 63|56 | 20 | 40 | 14 | 44 [2218:3| 28 | M18x1.5 | 20 | 16 |SCM-P-50| 258

SCM-I-80{ 80, 100

71

21

50 | 18 (28 §3 | 38

M22x1.5

27 | 21

395

SCM-Y-8080, 100| 71 | 23 | 50 | 18 | 56 [2838:3 | 38 | M22x15 | 27 | 21 | SCM-P-80 590

@ Pin for clevis

Material : Steel

Zinc chromate plating treatment

Bore size
(mm)

SCM-P1-50

50

oD
@CDes

86

79.6

1.15| 16

15.2

21

Applicable
snap ring

C type for shaft 16

(9)

133

Note : A pin and a snap ring are attached.

@ Rod eye pin Material : Steel

Zinc chromate plating treatment

oD
@CDes

Bore size
(mm)

SCM-P-50

50,63 | 50.6

44.2

nﬂ

1.15| 14

13.4 | 2.1

Applicable
snap ring

C type for shaft 14

60

SCM-P1-63

63

105.4

97.8

135 | 18

17

225,

C type for shaft 18

207

SCM-P-80

80,100 | 64

56.2

1.35

17 | 2.6

C type for shatt 18

126

*1 : For bore sizes @80 and @100, the dimension is the same as the pin for rod eye.

1274

CKD





